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18— [6—(=3+1) 2 —(-6)] =7

A) -1
B) 0
) 2
D) 10
E) 16
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M_(w
0,02 \0,09
A) 13

B) 10

C) 8

D) 6

E) 5

n7 o
B) 14

D) 28
E) 49
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= 4'.32.7
m=2 E=?

i m
n=23-3-5

A) 7

B)

) 21

D) 35

E) =

Y=64 + V16 + V=27 +6 (-1é=?

A) 12
B) 10
0 1
D) —2
E) —4

7.

:E ~ \/é)“'+ :/(T—ﬁ)z »

R

B) 2

C) V6
D) 2V6
E) 2-2v3

—4<x<3) A S
} = max(x?—-2y)=7"
-3<y<4

A) 24
B) 22
C) 17
D) 15

E) 3
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13, — _ = y2=2_ = =7 15. A ={a,b,{a,c}} kiimesiyle ilgili
x=-2 x+1 x+1 . agagidakilerden hangisi yanlistir?
A) =2 . For the given set A = {a, b, {a,c}}, which of
. : the following is false?
B) — ; p s
) ’ ?i.'l.]nl'ai.\;bg‘c"A ={a,b,{a'c}}4&_,¢9.nﬂ«_§uﬂg
C) 0
D) 1 A) {acjeA
E) 2 B) fajc A
C) {acjcA
D) {a,b}cA

E) {a,{ac}}cA

3 _4 . 16,  A=1{0,2,4,6,8,10} ve
8 y X, Y9 B={(xy) x+y.=10, x €A, y € 4}
1$ 3 _ = y X kiimeleri verilmis olsun. Bkumesmm eleman
Y —;' =6 ) g sayisini bulunuz.
Let A={0,2,4,6,8,10} and
A 1 B={(xy)| x+y=10, x€ 4, ye 4)
2 Find the number of elements in set B?
B) 5
: A=1{0,2,4,6,8,10} p=il
13 =
) — B={(xM| x+y=10, x €A, y € A}
6 B@J&A!l@_)m\.uﬂwa‘,l
D > A) 2
) 2
6 B) 3
E —
) 11 C) 4
D) 5
E) 6
(;vaydszm
j -(\ ':
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https://t.me/yosvadisi

P




TEMEL MATEMATIK TEST! / BASIC MATHS TEST / dsubual) ciludaly

17. (x=2)P(x) =x3+ ax?+ x -2 19. v
S =ax +bx+c
A) 0 2 ' 2y =7
| G =
B) 2 A
) 3 ' .
D) 4 0 N2 3 X
E) 5 5 =
3
B) -5
3 ,
0 -3 g
A 1 .
Ty D -3
: 4
. B -3

v 20. f:R={2}->R-{1},
18, P(x- 1J+ P(x) = 6x—5 :

-1 (2x+1) =‘-4x+3 = f(-1) =2
| = P(1) =7 x =1 '
,.A) 2 A) 2
B) 3
‘ ) ; B) 1 :
C) 4 - ‘ ;
- : L 1
Dys a . . 93 i
E) 6
D) —
E) 0
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=n =7
2L |Im||=2m-1 seklinde tanimlaniyor. Buna 23. n < log24000 <m +1 n
. o =
gore |12+ nl| = ||-nl| = n o 2
If |m||=2m—-1  then determine the B) 3
value of n for the following equation; ' 0) 4
12 +nf| = |[-nl| D) 5
lmll = 2m—1osW E) 6
12 + n| = ||-n|| Al el & YOV JELEN
A) -2
B) —1
) 0
D) 1
E) 2
22. cosx+tanx-sinx=2 | 2. fx)=25"2 = f(20) =7
= 1—2sin’x =?
o A) 2f(®)
3 : B) f2(x)
A) — I
f(x)
1 c) —
B) — 5
f2(x)
- - D
g —1 ) "
D) — -12— E) 4f2(x)
1
E) 2
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27. lima—xzﬁ_—s=i'=> at+c=?
xX—00 cx+3 4
A) 5
B) 9
T C) 16
- D) 20
A) E
E) 24
1
B) E
!
01
D) 2
E) 3
£ 3 1 ) ) ‘*' _ _ i . f(X)'-f(Z) 5
logpne(2x+4) =3 =X =? 5 28 f(x)'— 2x —In(2x) = }cl—lzlz D =
A) O 5 __3-
2
B) 1
B) 1
C) 2
D) 3 ' o0
D) —1
E) 4 ;
E) ——
) 2
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29. f(x¥) =x2- 16x+4 = f'(8)=? 31. Sekildeki O noktasi  dairelerin  ortak
' . merkezidir. S, ve S, tarali bélgelerin alam
A) -1 , olmak iizere; .
. , 5 =%,
B) 0 Sz
01

The point O is the center of both circles. Find

S
B) & the value of - ;1- (S;, S, denotes the shaded
2
E) 3 areas). '
51 Lo 2a gl oAl e S S 5a o4 O Al
S

|OK|=|KL|

L -m(NOL)=90°

30. Sekilde f'(x). fonksiyonunun grafigi
verilmistir. f(0) = 2.= f(1) =7

e’

Graph of function f(x) is given below.

Accordingly, if £(0) = 2 then find the value A) 1
of f(1). : 8
SS 13 Gty el B asmse f1(X) G JSS B 1
f(1)aef 2= £(0) =2 4
% o
) ) 3
D) =
) 2
0 ;1\‘ —>X E) 1
J')
A) -3
B) —1
00
D) 2
E) 3
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32. 0 merkezli cemberde; , 33, A
0 is the centre of circle; 5cm
O e B = 7cm c
A |AB| = |DC|
y ¥ |0E| = 2x + 1 cm Biitiin kenar uzunluklar1 cm cinsinden tam
D - say1 olan ABC liggeni verilmistir. Bu liggenin
l |OF| =3x—=2cm ikizkenar {icgen olma olasihg1 nedir?
' i izes for all three
‘ = |OF|=rem Eiec;eI:EEAb}:Caas ianllilgee;r?ils csallfl:meters.What
is the probability that ABC is an isosceles
A) 8 triangle?
R o ABC 30l gLl sk e ABC of o
C) 6 dLyABCo‘M*ﬁu.MfTﬂ
ol S
D) 4
E) 3 1
A) E
2
B) ;
1
07
.
) 5
3
E) -]3
GAUNYOS 2019
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YOS VADISI

—— DS/t me/yosvadisi



34.

35.

 TEMEL MATEMATIK TESTI / BASIC MATHS TEST / Asbusd) sl

c . 36.
&
S D
A 8cm E B
ABC iiggeni- eskenar iiggendir. Verilenlere
gore DEB li¢geninin alani bulunuz.
ABCisan GQUilaterél triangle. Find the area of
DEB. N
DEB 4alua aa 5l gl (5 slasia Cilie g4 ABC
A) 4 cm?
B) 2V3cm?
Q) 6cm?
D) 6V3cm?
E) 8cm?
D K. ¢
T [KA] L [TB]
N\ |[KA| = 10cm
T |TB| = 6cm
A -:gﬁ
ABCD dikdértgenin alam kag cm? dir?
Find the area of ABCD.
ABCD Aalua 32
A) 50
B) 60
c) 30
D) 26
E) 20
GAUNYGS 2019
W

D/N C
P M
L

A R H B

ABCD bir dikdortgen ve RHMNP diizgiin
besgendir.m(APR) =?

ABCD is a rectangle and RHMNP is a regular
pentagon. What is the size of angle APR?

L sl pueda s RHMNP 5 e 54 ABCD

SAPR gl 3l (ald
A) 72°
B) 54°
C) 48°
D) 36°
E) 18°
: YOS VADISI
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37. D__4cm ¢ |AD| L |BD|,
|AB| //1DC],
A 12 cm B 4B =1zcm

ABCD yamugunun alani nedir?
Find the area of ABCD trapezoid.
ABCD <i_jsidl 4,3 dalue 3a
A) 16 cm?
B) 32V2cm?
C) 36 cm?
D).16V2 cm?

E) 48cm?

v

[AB//[CD = x =7

A) 20
B) 30
C) 40
D) 45
E) 50

39, D

QR

|AD| / |BC],
IDC| / 1AB|,

A B

m(D) = (3x+50)°
m@) = (7x—-70)° = a=?

A) 50°
B) 55°
C) 60°
D) 70°
'E) 110°

c .
|AC| =10 cm

|BD| =6 cm

<

A B

n(CE- B)=30°

ABCD dortgenin alani kag cm2 dir?
Find the area of ABCD.
' ABCD Aalue 22
A) 15
B) 20
C) 30
D) 60
E) 120
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GTEP  =100111
ATP = 010101
GNT =101100
GANTEP =?

A) 111111
B) 110110
C) 010101
D) 111010
E) 101010

3. Asafida verilen say ciftleri arasinda bir iliski
vardir. Buna gére A nin degerini bulunuz?

There is a relation between the number pairs.
Find the value of A accordingly.

(3 1 g A e a gl 81 195l o 2D i

(371,53), (133,19), (70,4)

A=?
A) 56
B) 44
C) 10
D) 7
E) 5

4,
754312875431287543128754 ... A 32541
‘Say1 dizisinde 132. say1 asagidakilerden SELAM
1wf-ﬁmﬂ s LEMAS 25341
engsa A LASEM 34125
In the following number squence, what is the ASLEM 54321
132th number? ALMES 23145
gmn.x.qa,:ﬂt,@Mlé}lﬁu‘m\eﬁﬂlmg ) o )
. : %(132) I II

A) 7 ELMAS=?
B) 5

A) 13542
C) 4

B) 13425
D) 2 .

C) 43125
E) 8 .

D) 34125

E) 42315

GAUNY3S 2019 .
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118

L. ve . terazi dengededir. IIL. terazinin dengede
olabilmesi i¢in sag kefeye X tiiril agirliktan
kag tane koymak gerekir?

Scale I and II are balanced. To keep scale III

balanced, how many weights should be placed

on the right hand side of the scale?

K oS 03l 1T el (35 (K105 IT 5 T Ol
o el (e a1 e el e paa g o g 0

A) 3
B) 5
Q) 7
D) 8
E) 9

GAIANYES 2019

W

/‘1

L. 77777 1L

Terazinin dengeye gelmesi 'ig:in her bir kefeden
hangi agirhiklar alinmalidir?

In order to get the scale balanced, which
weights should be removed from each side?

e el 3] s G 1Y) (A L 001 O el e (8

ik
L 1L

A) 20 23

B) 18 20

C) 23 20

D) 23 32

E) 14 25
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9.
2 Alulz|E|M
L 11. 11l \'A U|lzZ|E|M|G
T s Z|E|M|G|A
-adimdaki {iggen sayis1 kagtir?
: - E|IM|G|A|U
Find the number of triangles in step IV.
M|G|A|U|Z
IV 5 shall b cUball s 2l
) Gla|lUu|Z]|E
A) 13
B) 17
O 21 2012121212
D) 25
E) 29 75. siraya agagidaki dizilimlerden hangisi
gelmelidir? -
What is the 75th of the above squence?
eLleY) A ALl & (75) o) 5 pudS]) 52 L
AA.G A U Z E M
B) AU Z E MG
¢ u Z E MG A
D) Z E M G A U
E) M G A U Z E
1 2 3 3 2 1 '
3 7 12 11 5
16 7 155126
A) 19
B) 28
0 61
D) 151
E) 201
GAUNYES 2019
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10.

11.

A) 14
B) 30
C) 48
D) 62
E) 126

GENEL YETENEK TEST! / GENERAL APTITUDE TEST / 4alad) i jlgall (o)

A) 18
B) 12
C) 10
D) 7
E) 5

GAUNY S 2079

\ 4

12,

A)

D)

13.

G0
B)QC)GT

E)

a,beZ

m| k—-m=13 = a=?

A) 12
B) 10
) 9

D) 7

E) 6

YOS VADISI
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14. — 15. '
' [
+ >
NN
Verilen sekli kareye tamamlayan parga hangisidir? +f 92 >
Which partcompletes the given shape to a square?
S el (laadll JEAN e 6 5 8]
A B)
A L—— B 1—
of L—_ D L E)
Bl L— :
16. . «——> 1. i
CIN 956
KIN 273
DEF 418
KUM 973
FEN =?
A) 813 ' |
B) 923 '-
C) 937
D) 657
E) 253
. GAUNYES 2019
. j..am..,.*
S : AN
- ()] .
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17. 4 x 4 tabloda 1'den 4'e kadar olan rakamlér

18.

GENEL YETENEK TEST! / GENERAL APTITUDE TEST / 4aladl il jlgall laiel

+A+A

A

19,
her satirda ve her siitunda birer kez
kullanilmistir.,
In the 4 x 4 matrix above, numbers from 1 to
4 were used only once in each of the rows and
coloumns.
il 4 (N T e atae Y eV B4 x4 D giad) b
Baac Yl g gioall (ha S (8 b Bas) 45 e
4 1Y]|3
X|1
XY +2=?
2 4|z A) 45
B) 40
C) 35
A) 18
) D) 30
5
B) 1 E) 25
C) 13
D) 11
E) 9
20.
. A
b al|b
- |
3 a 4
o4
b r b
o]
p+r=?
*
A) 12
B) 10
A) 5413
C) 8 6
2314
D) 7 !
C) 1423
E) 5 .4
D) 5432
E) 3251
GAUNYOS 2019

B #*  #*®

* # = 1375
A * = 3517
® *x = 3214
X = 4752
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GENEL YETENEK TEST! / GENERAL APTITUDE TEST / Aalad) Gl jlgeal). ladia)

21, Verilen5x5 Sudokuda 1'den 5’e kadar olan
rakamlar her satirda ve her slitunda birer
kez kullamlmstir, Buna gore
asagidakilerden hangileri dogrudur?

In the given 5 x 5 Sudokuy, digits from 1 to 5
were used only once in each of the rows and

coloumns. Accroding to this table, which of
the below statements are true?

Ca80l 5 38 1 e sV, 5% 5 (4893 3m) Ll
I3l Wy 3aeeyl 3 Gshaall e JS b daib Banly 54
eyl i Rl oxtall oa e Jgaall

. A+B+C=5
I. B:-C-D=6
. B?—-E%2=2

IV. C+D-E=14

22 N TN

A) LI 23. ' 7~ 7~
B) ILIIL IV
9
C) IL 111 .
D) LILIII
E) ILIV .
A) B) 0
D) E)
GAUNYGS 2019
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A g TP A RNk s

25.

. I
=  — &
][] 5 =l [ °©
71 & = |
_ F. — L t.l_ \_,_H .
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27.

A)

GENEL YETENEK TEST! / GENERAL APTITUDE TEST / dalal} & jlgal) (laZal

O

4 [

B)

O
D)L+.

28.

om

om0
E0nm

Oom

-~

A)

D).

Om

B)

E)

0

@0

29,

30.

GAUNYES 2019

OIS
.5"(“"-:
2\ 14

11 |18

16 |26

A |14 |28

13 |21

A) 132
B) 104
C) 76
D) 38
E) 12

A)

D)

B)

ry e
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3. )
Salany S S

RN

33.
X’I@ o< [ ]
@ [c<ju | O
I &}
iR
By
ad
GAUNYES 2019
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YOS VADISI

https://t.me/yosvadisi




GENEL YETENEK TEST! / GENERAL APTITUDE TEST / dalal) i jlgall Glatal:

34 AA A A 36.
A A A .
A A A
A A A
A Al |la Aa||la aAlla &
A A A A
AAIL AR A A A
A Al |laA Al|a a|la A
AAA Al [& &
aal| ? A A A
A & A Alla &
Ara B)Y[Taal O 24
A A A A A
A A A A A A
D)|AAA E)] AA
A A
A A A

35.

Sekildeki yap kag birim kiipten olusmustur?

How many unit cubes are used to construct
the structure given in the figure?

¢S 8 Bllanal) All cLETY a2ty uaSa oS
A) 14
B) 15
C) 18
D) 20
E) 21

GAUNYES 2019
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37.

GAUNYES 2019

v,
s,
AN
E 3

38,

rd

O
D

Agik hali verilen kiipiin kapali hali hangisidir?

What could be the closed version of the open
Cube?

?CM|QMW|M|Q)S:|OEQS@DM

A)@ B) c)@ a
D) E)

0 |

e

23
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O
C
C)

m
=

~T
3

[as]

oF

[aal
or

|
?
\ 2
A) B)
. B) {L 1 &=
(0)) D)
D) . = =]
E)
3 —— @
)
qAﬁNyés 2019
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